Section 6.3

fi, ift <4

, if4<t<5
Example: f(t) = {ﬁ if 5 <t < 10;

Hence f(t) = f1(t)+ua(t){f2(t)—f1(8)]+us (&) [ f3(t)— fa(t)+u1o(t) [ Fa(t) — f3 ()]

Formula 13: L(us(t)f(t — ¢)) = e~ L(f(2)). S F (5)
or equivalently

Luc(t)f(E —c+c)) = e @ L(f(t+c)).

or equivalently
L(uc(t)f(t) = e > L(f(t+c)).

In other words, replacing ¢ — ¢ with ¢ is equivalent to replacing ¢ with £ + ¢

Formula Lg’%l(uc(t) f(t—- c)) % SLf(E) (t ( S ))
f(t).

Let F(s) = L(f(£)). Then £L~Y(F(s)) = £~ 1(L(f(

Thus £ (P (s)) = £ (e ()),)—uc(t) (t—c) where f(t) = L(F(s))l

Fs) - ZIL(4))
JFG) = e(t)
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